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14 The base of a cone is fixed to the top of a cylinder to make  decorafion.

The radiusof e b of tha cons and ofthe cfindar s rom.
The cone's height s 5rcm.

T el height of e decoration s 6rcm.

The toat voume of th decoration s 225

Cakuia the vabe o
‘Show your working.
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6 The diagram shows a cylinder and a sphere.
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The cfindar hasradius 12cm and haight 0.
The clindor and the sphere have he samo volume.

Wiork outth racius rem ofthe sphre.
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[The volume V of a sphers with radius ris V.
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19 Two cylinders, Aand B, are mathematically similar.

Cylinder A has volume 2400cm? and height 12cm.
Cylinder B has volume 750cm®.

Find the height of cylinder B.
Give your answer correct to an appropriate degree of accuracy.





